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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series SRQPE/C  SET~1 

  àíZ-nÌ H$moS>       
amob Z§. Q.P. Code  

Roll No. 
 
 

 
 

ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¢ & 
 Please check that this question paper contains 9 printed pages +1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 Please check that this question paper contains 13 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 
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: 

: 

(i)  
13 

(ii) 1 5 2 
40 

(iii) 6 8 3
80 

(iv) 9 10 5 

120 

(v) 11 12 4 

(vi) 13 3 
13  1 13  2 

(vii) 

(viii) 

IÊS> H$  

                   (A{V bKw-CÎmar` àíZ) (5 2=10) 

1. 1927 ? ñnï> 
H$s{OE &  2 

2.  2 

3. bmohm Am¡a BñnmV CÚmoJ H$mo AmYma ŷV CÚmoJ  ? ñnï> H$s{OE & 2 

4. bmoH$Vm§{ÌH$ ì`dñWmE± amOZr{VH$ g_mZVm na AmYm[aV h¢ &  Bg H$WZ H$s naI  
H$s{OE & 2 

5. IarXXm[a`m± H$s OmVr h¢ ? ñnï> H$s{OE &  2 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises five sections  Sections A, B, C, D and E. 
There are 13 questions in the question paper. All questions are compulsory.  

(ii) Section A  Questions no. 1 to 5 are very short answer type questions, carrying 
2 marks each. Answer to each question should not exceed 40 words.  

(iii) Section B  Questions no. 6 to 8 are short answer type questions, carrying  
3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C  Questions no. 9 and 10 are long answer type questions, carrying  
5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D  Questions no. 11 and 12 are case-based questions, carrying  
4 marks each.  

(vi) Section E  Question no. 13 is map-based, carrying 3 marks with two parts, 
13(a) from History (1 mark) and 13(b) from Geography (2 marks). 

(vii) There is no overall choice in the question paper. However, an internal choice 
has been provided in few questions. Only one of the choices in such questions 
have to be attempted.  

(viii) Attach map along with your answer-book.    

SECTION A 
 (Very Short Answer Type Questions) (5 2=10) 

1. Why did the new Tory Government in Britain constitute a Statutory 
Commission in 1927 ? Explain. 2 

2. Mention the importance of Border roads in India.  2 

3.  2 

4.  2 

5. Why are transactions made in money ? Explain.  2 
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IÊS> I  
                     (bKw-CÎmar` àíZ) (3 3=9) 

6. (H$) Agh`moJ H$m {dMma Am§XmobZ H¡$go ~Zm ? ñnï> H$s{OE & 3 
 AWdm 

(I) Agh`moJ Am§XmobZ J«m_rU joÌm| _| H¡$go \¡$bm ? ñnï> H$s{OE & 3 

7. bmoH$Vm§{ÌH$ emgZ ì`dñWm d¡Y emgZ ì`dñWm h¡ &  Bg H$WZ H$s nw{ï>, Cn ẁº$ VH$m] go 
H$s{OE & 3 

8. {ZY©Z n[adma G ? ñnï> H$s{OE & 3 
IÊS> J  

                     (XrK©-CÎmar` àíZ) (2 5=10) 

9. (H$) ^maV _| amOZr{VH$ Xbm| Ho$ gå_wI à_wI MwZm¡{V`m| H$m {díbofU H$s{OE & 5 
 AWdm 

(I) ^maV _| amOZr{VH$ Xbm| H$s ŷ{_H$m H$m {díbofU H$s{OE & 5 

10. (H$) d¡ídrH$aU {d{^Þ Xoem| Ho$ ~rM Vrd« EH$sH$aU H$s à{H«$`m h¡ &  Bg H$WZ H$s 
naI H$s{OE &  5 

 AWdm 
 (I) ^maV _| ~hþamï>́r` H§$n{Z`m| H$s ŷ{_H$m H$s naI H$s{OE & 5 

IÊS> K  
                 (Ho$g-AmYm[aV àíZ) (2 4=8) 
11. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ :  4 

        ñdV§ÌVm {Xdg H$s enW, 26 OZdar, 1930 

h_mam {dídmg h¡ {H$ {H$gr ^r g_mO H$s Vah ^maVr` OZVm H$m ^r `h EH$ AhaUr` 
(inalienable) A{YH$ma h¡ {H$ CÝh| AmµOmXr {_bo, AnZr _ohZV H$m \$b {_bo, Am¡a OrdZ 

Ho$ n[anyU© Adga {_b| & h_mam `h 
^r {dídmg h¡ {H$ `{X H$moB© ^r gaH$ma AnZr OZVm H$mo BZ A{YH$mam| go d§{MV aIVr h¡ 
Am¡a X~mVr h¡, Vmo OZVm H$mo ^r gaH$ma H$mo ~XbZo `m Cgo g_yb g_má H$aZo H$m A{YH$ma 
h¡ & ^maV _| {~«VmZr gaH$ma Zo Z Ho$db ^maVr` OZVm H$mo ñdV§ÌVm go d§{MV {H$`m h¡ 
~pëH$ CgZo OZVm H$m emofU {H$`m h¡ Am¡a ^maV H$mo Am{W©H$, amOZr{VH$, gm§ñH¥${VH$ Ed§ 
AmÜ`mpË_H$ ñVa na Zï> H$a {X`m h¡ & Bg{bE h_mam {dídmg h¡ {H$ ^maV H$mo A{Zdm ©̀ ê$n 
go {~«Q>oZ Ho$ gmW AnZo g^r g§~§Ym| H$mo g_má H$aHo$ nyU© ñdamO àmá H$aZm Mm{hE &  
(11.1) {H$gH$mo EH$ AhaUr` A{YH$ma g_Pm J`m Wm ? 1 
(11.2) ^maVr`m| Zo nyU© ñdamO  ? 1 
(11.3) Bg AdVaU Ho$ g§X ©̂ _| {~«{Q>e gaH$ma Ho$ à{V ^maVr`m| Ho$ {dMmam| H$s naI  

H$s{OE & 2 
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SECTION B 
 (Short-Answer Type Questions) (3 3=9) 
6. (a) How did non-cooperation become a movement ? Explain.  3 
 OR 

(b) How did the Non-Cooperation Movement spread to the  
countryside ? Explain.   3 

7. 
statement with suitable arguments.  3 

8. Why are poor households still dependent on informal sources of loans ? 
Explain.  3 

SECTION C 
 (Long-Answer Type Questions) (2 5=10) 

9. (a) Analyse the major challenges faced by the political parties in India.  5 
OR 

 (b) Analyse the role of political parties in India.   5 

10. (a) ween 
 5 

OR 
(b) Examine the role of Multinational Corporations in India.  5 

SECTION D 
 (Case-based questions) (2 4=8) 

11. Read the given case carefully and answer the questions that follow :  4 
The Independence Day Pledge, 26 January, 1930 

 
other people, to have freedom and to enjoy the fruits of their toil and have 
the necessities of life, so that they may have full opportunities of growth. 
We believe also that if any government deprives a people of these rights 
and oppresses them, the people have a further right to alter it or to 
abolish it. The British Government in India has not only deprived the 
Indian people of their freedom but has based itself on the exploitation of 
the masses, and has ruined India economically, politically, culturally, and 
spiritually. We believe, therefore, that India must sever the British 

 
(11.1) What was considered as an inalienable right ? 1 
(11.2)  1 
(11.3) Examine the views of Indians towards the British Government in 

reference to this passage.  2 
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12. | Ho$ CÎma {b{IE : 4 

     amï´>r` Vmn {dÚwVJ«h H$m°anmoaoeZ (NTPC) Ûmam {XIm`m J`m _mJ©   

^maV _| amï>́r` Vmn {dÚwVJ¥h H$m°anmoaoeZ {dÚwV àXmZ H$aZo dmbr _w»` {ZJ_ h¡ & BgHo$ 

nmg n`m©daU à~§YZV§Ì (EMS) 14001 Ho$ {bE AmB© Eg Amo (ISO) à_mU-nÌ h¡ & `h 

{ZJ_ àmH¥${VH$ n`m©daU Am¡a g§gmYZ O¡go Ob, I{ZO Vob, J¡g VWm BªYZ g§ajU Zr{V 

H$m {h_m`Vr h¡ VWm BÝh| Ü`mZ _| aIH$a hr {dÚwV g§̀ §Ìm| H$s ñWmnZm H$aVm h¡ & Eogm {ZåZ 

Cnm`m| Ûmam g§̂ d h¡  

(A) AmYw{ZH$V_ VH$ZrH$m| na AmYm[aV CnH$aUm| H$m ghr Cn`moJ H$aHo$ VWm {dÚ_mZ 

CnH$aUm| _| gwYma & 

(~) A{YH$V_ amI H$m BñVo_mb H$a An{eï> nXmWm] H$m Ý ỳZ CËnmXZ & 

(g) nm[apñW{VH$s g§VwbZ ~ZmE aIZo Ho$ {bE h[aV joÌ H$s gwajm VWm d¥jmamonU Ho$ 

{bE ào[aV H$aZm & 

 

(12.1) ^maV _| {dÚwV àXmZ H$aZo dmbm à_wI {ZJ_ H$m¡Z-gm h¡ ? 1 

(12.2) Cg g§ñWmZ H$m Zm_ {b{IE Omo n`m©daU à~§YZ V§Ì Ho$ {bE AmB©.Eg.Amo. 

à_mU-nÌ Omar H$aVm h¡ & 1 

(12.3) àmH¥${VH$ n`m©daU Ho$ g§ajU Ho$ {bE amï>́r` Vmn {dÚwVJ«h {ZJ_ H$s g§ajU Zr{V 

H$mo ñnï> H$s{OE &  2 
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12. Read the given case carefully and answer the questions that follow :  4 

NTPC shows the way  

 NTPC is a major power providing corporation in India. It has ISO 

certification for EMS (Environment Management System) 14001. The 

corporation has a pro-active approach for preserving the natural 

environment and resources like water, oil, gas and fuels in places where 

it is setting up power plants. This has been possible through  

(a) Optimum utilisation of equipment adopting latest techniques and 

upgrading existing equipment. 

(b) Minimising waste generation by maximising ash utilisation. 

(c) Providing green belts for nurturing ecological balance and 

addressing the question of special purpose vehicles for 

afforestation.  

 

(12.1) Which is the major power providing corporation in India ? 1 

(12.2) Name the institution which issues ISO certification for 

Environment Management System.   1 

(12.3) Explain the pro-active approach of NTPC for preserving the 

natural environment.   2 
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IÊS> L>  

                 (_mZ{MÌ-AmYm[aV àíZ) (1+2=3) 

13. (i) {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na) _| {ZåZ{b{IV OmZH$mar 
H$s ghm`Vm go 
ItMr JB© aoIm na CgH$m ghr Zm_ {b{IE &  

A. dh ñWmZ Ohm± ^maVr` amḯ>r` H$m±J«og H$m A{YdoeZ 1927 _| hþAm Wm & 1 

(ii) {XE JE ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a CZHo$ 
Zm_ {b{IE : 

(H$) (I) ZmoES>m   1 
                                            AWdm 

 (II) nwUo   1 

(I) nmamXrn  à_wI g_wÐr nÎmZ  1 

 

: 13

 3  1=3

(13.1) Cg ZJa H$m Zm_ {b{IE Ohm± ^maVr` amḯ>r` H$m±J«og H$m A{YdoeZ 1927 _| hþAm  
Wm &  1 

(13.2) (H$)  
h¡ & 1 

 AWdm 

 (I)  1 

(13.3) {H$g amÁ` _| nmamXrn g_wÐr nÎmZ pñWV h¡ ?   1 
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SECTION E 

     (Map-Based Question) (1+2=3) 

13. (i) On the given political outline map of India (on page 11), identify 

the place marked as A  with the help of the following information 

and write its correct name on the line marked near it. 

A. The place where the Indian National Congress Session was 

held in 1927. 1 

(ii) On the same given map of India, locate and label the following with 

appropriate symbols : 

(a) (I) Noida  Software Technology Park 1 

                                                                  OR 

 (II) Pune  Software Technology Park 1 

(b) Paradwip  Major Sea Port  1 

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 13. 3 1=3 

(13.1) Name the city where the Indian National Congress Session was 
held in 1927. 1 

(13.2) (a) Name the State where the Noida Software Technology Park 
is located.  1 

 OR 

 (b) Name the State where the Pune Software Technology Park 
is located.  1  

(13.3) In which State is Paradwip Sea Port located ?   1 
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àíZ g§. 13 Ho$ {bE  For question no. 13 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

A 
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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series SRQPE/C  SET~2 

  àíZ-nÌ H$moS>       
amob Z§. Q.P. Code  

Roll No. 
 
 

 
 

ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¢ & 
 Please check that this question paper contains 9 printed pages +1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 Please check that this question paper contains 13 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 

 

gm_m{OH$ {dkmZ  
SOCIAL SCIENCE  

: 2 : 40 
Time allowed : 2 hours Maximum Marks : 40 

32/6/2 
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: 

: 

(i)  
13 

(ii) 1 5 2 
40 

(iii) 6 8 3
80 

(iv) 9 10 5 

120 

(v) 11 12 4 

(vi) 13 3 
13  1 13  2 

(vii) 

(viii) 

IÊS> H$  

                   (A{V bKw-CÎmar` àíZ) (5 2=10) 

1. _hmË_m Jm±Yr Zo g{dZ` Adkm Am§XmobZ  H$mo 1931 _| dmng ? 2 

2. bmoH$Vm§{ÌH$ ì`dñWmE± amOZr{VH$ g_mZVm na AmYm[aV h¢ &  Bg H$WZ H$s naI  

H$s{OE & 2 

3. ? 2 

4. IarXXm[a`m± H$s OmVr h¢ ? ñnï> H$s{OE &  2 

5.  2 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises five sections  Sections A, B, C, D and E. 
There are 13 questions in the question paper. All questions are compulsory.  

(ii) Section A  Questions no. 1 to 5 are very short answer type questions, carrying 
2 marks each. Answer to each question should not exceed 40 words.  

(iii) Section B  Questions no. 6 to 8 are short answer type questions, carrying  
3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C  Questions no. 9 and 10 are long answer type questions, carrying  
5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D  Questions no. 11 and 12 are case-based questions, carrying  
4 marks each.  

(vi) Section E  Question no. 13 is map-based, carrying 3 marks with two parts, 
13(a) from History (1 mark) and 13(b) from Geography (2 marks). 

(vii) There is no overall choice in the question paper. However, an internal choice 
has been provided in few questions. Only one of the choices in such questions 
have to be attempted.  

(viii) Attach map along with your answer-book.    

SECTION A 

 (Very Short Answer Type Questions) (5 2=10) 

1. Why did Mahatma Gandhi decide to call off the Civil Disobedience 
Movement  in 1931 ?  2 

2.   2 

3. Why does the textile industry occupy a unique position in the Indian  
economy ?  2 

4. Why are transactions made in money ? Explain.  2 

5. Mention the importance of Border roads in India.  2 
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IÊS> I  
                     (bKw-CÎmar` àíZ) (3 3=9) 

6. ? ñnï> H$s{OE & 3 

7. bmoH$Vm§{ÌH$ emgZ ì`dñWm EH$ {Oå_oXma emgZ ì`dñWm h¡ &  Bg H$WZ H$s nw{ï>  
H$s{OE & 3 

8. (H$) Agh`moJ H$m {dMma Am§XmobZ H¡$go ~Zm ? ñnï> H$s{OE & 3 

 AWdm 

(I) Agh`moJ Am§XmobZ J«m_rU joÌm| _| H¡$go \¡$bm ? ñnï> H$s{OE & 3 

IÊS> J  
                     (XrK©-CÎmar` àíZ) (2 5=10) 

9. (H$) ^maV _| amOZr{VH$ Xbm| Ho$ gå_wI à_wI MwZm¡{V`m| H$m {díbofU H$s{OE & 5 

 AWdm 

(I) ^maV _| amOZr{VH$ Xbm| H$s ^y{_H$m H$m {díbofU H$s{OE & 5 

10. (H$) d¡ídrH$aU Ho$ Hw$N> gH$mamË_H$ Am¡a Hw$N> ZH$mamË_H$ à^md h¢ &  H$WZ H$s naI  
H$s{OE & 5 

 AWdm 

 (I) Ý`m`g§JV d¡ídrH$aU g^r Ho$ {bE Adga àXmZ H$aoJm &  Bg H$WZ H$s naI  
H$s{OE &  5 

IÊS> K  
                 (Ho$g-AmYm[aV àíZ) (2 4=8) 

11. : 4 

     amï´>r` Vmn {dÚwVJ«h H$m°anmoaoeZ (NTPC) Ûmam {XIm`m J`m _mJ©   

^maV _| amï>́r` Vmn {dÚwVJ¥h H$m°anmoaoeZ {dÚwV àXmZ H$aZo dmbr _w»` {ZJ_ h¡ & BgHo$ 

nmg n`m©daU à~§YZV§Ì (EMS) 14001 Ho$ {bE AmB© Eg Amo (ISO) à_mU-nÌ h¡ & `h 

{ZJ_ àmH¥${VH$ n`m©daU Am¡a g§gmYZ O¡go Ob, I{ZO Vob, J¡g VWm BªYZ g§ajU Zr{V 

H$m {h_m`Vr h¡ VWm BÝh| Ü`mZ _| aIH$a hr {dÚwV g§̀ §Ìm| H$s ñWmnZm H$aVm h¡ & Eogm {ZåZ 

Cnm`m| Ûmam g§̂ d h¡  
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SECTION B 
 (Short-Answer Type Questions) (3 3=9) 

6. Why are poor households still dependent on informal sources of loans ? 
Explain.  3 

7. 
statement.   3 

8. (a) How did non-cooperation become a movement ? Explain.  3 
 OR 

(b) How did the Non-Cooperation Movement spread to the  
countryside ? Explain.   3 

SECTION C 
 (Long-Answer Type Questions) (2 5=10) 

9. (a) Analyse the major challenges faced by the political parties in India.  5 
OR 

 (b) Analyse the role of political parties in India.   5 

10. (a) 
Examine the statement.  5 

 OR 

(b) amine the 
statement.  5 

SECTION D 

 (Case-based questions) (2 4=8) 

11. Read the given case carefully and answer the questions that follow :  4 

NTPC shows the way  

 NTPC is a major power providing corporation in India. It has ISO 
certification for EMS (Environment Management System) 14001. The 
corporation has a pro-active approach for preserving the natural 
environment and resources like water, oil, gas and fuels in places where 
it is setting up power plants. This has been possible through  
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(A) AmYw{ZH$V_ VH$ZrH$m| na AmYm[aV CnH$aUm| H$m ghr Cn`moJ H$aHo$ VWm {dÚ_mZ 

CnH$aUm| _| gwYma & 

(~) A{YH$V_ amI H$m BñVo_mb H$a An{eï> nXmWm] H$m Ý ỳZ CËnmXZ & 

(g) nm[apñW{VH$s g§VwbZ ~ZmE aIZo Ho$ {bE h[aV joÌ H$s gwajm VWm d¥jmamonU Ho$ 

{bE ào[aV H$aZm & 

(11.1) ^maV _| {dÚwV àXmZ H$aZo dmbm à_wI {ZJ_ H$m¡Z-gm h¡ ? 1 

(11.2) Cg g§ñWmZ H$m Zm_ {b{IE Omo n`m©daU à~§YZ V§Ì Ho$ {bE AmB©.Eg.Amo. 

à_mU-nÌ Omar H$aVm h¡ & 1 

(11.3) àmH¥${VH$ n`m©daU Ho$ g§ajU Ho$ {bE amï>́r` Vmn {dÚwVJ«h {ZJ_ H$s g§ajU Zr{V 

H$mo ñnï> H$s{OE &  2 

12. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ :  4 

        ñdV§ÌVm {Xdg H$s enW, 26 OZdar, 1930 

h_mam {dídmg h¡ {H$ {H$gr ^r g_mO H$s Vah ^maVr` OZVm H$m ^r `h EH$ AhaUr` 

(inalienable) A{YH$ma h¡ {H$ CÝh| AmµOmXr {_bo, AnZr _ohZV H$m \$b {_bo, Am¡a OrdZ 

^r {dídmg h¡ {H$ `{X H$moB© ^r gaH$ma AnZr OZVm H$mo BZ A{YH$mam| go d§{MV aIVr h¡ 

Am¡a X~mVr h¡, Vmo OZVm H$mo ^r gaH$ma H$mo ~XbZo `m Cgo g_yb g_má H$aZo H$m A{YH$ma 

h¡ & ^maV _| {~«VmZr gaH$ma Zo Z Ho$db ^maVr` OZVm H$mo ñdV§ÌVm go d§{MV {H$`m h¡ 

~pëH$ CgZo OZVm H$m emofU {H$`m h¡ Am¡a ^maV H$mo Am{W©H$, amOZr{VH$, gm§ñH¥${VH$ Ed§ 

AmÜ`mpË_H$ ñVa na Zï> H$a {X`m h¡ & Bg{bE h_mam {dídmg h¡ {H$ ^maV H$mo A{Zdm ©̀ ê$n 

go {~«Q>oZ Ho$ gmW AnZo g^r g§~§Ym| H$mo g_má H$aHo$ nyU© ñdamO àmá H$aZm Mm{hE &  

(12.1) {H$gH$mo EH$ AhaUr` A{YH$ma g_Pm J`m Wm ? 1 

(12.2) ^maVr`m| Zo nyU© ñdamO  ? 1 

(12.3) Bg AdVaU Ho$ g§X^© _| {~«{Q>e gaH$ma Ho$ à{V ^maVr`m| Ho$ {dMmam| H$s naI  

H$s{OE & 2 
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(a) Optimum utilisation of equipment adopting latest techniques and 

upgrading existing equipment. 

(b) Minimising waste generation by maximising ash utilisation. 

(c) Providing green belts for nurturing ecological balance and 

addressing the question of special purpose vehicles for 

afforestation.  

(11.1) Which is the major power providing corporation in India ? 1 

(11.2) Name the institution which issues ISO certification for 

Environment Management System.   1 

(11.3) Explain the pro-active approach of NTPC for preserving the 

natural environment.   2 

12. Read the given case carefully and answer the questions that follow :  4 

The Independence Day Pledge, 26 January, 1930 

 ble right of the Indian people, as of any 

other people, to have freedom and to enjoy the fruits of their toil and have 

the necessities of life, so that they may have full opportunities of growth. 

We believe also that if any government deprives a people of these rights 

and oppresses them, the people have a further right to alter it or to 

abolish it. The British Government in India has not only deprived the 

Indian people of their freedom but has based itself on the exploitation of 

the masses, and has ruined India economically, politically, culturally, and 

spiritually. We believe, therefore, that India must sever the British 

 

(12.1) What was considered as an inalienable right ? 1 

(12.2) Why did Indian  1 

(12.3) Examine the views of Indians towards the British Government in 
reference to this passage.  2 
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IÊS> L>  

                 (_mZ{MÌ-AmYm[aV àíZ) (1+2=3) 

13. (i) {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na) _| {ZåZ{b{IV OmZH$mar 
H$s ghm`Vm go 
ItMr JB© aoIm na CgH$m ghr Zm_ {b{IE &  

A. dh ñWmZ Ohm± ^maVr` amḯ>r` H$m±J«og H$m A{YdoeZ 1927 _| hþAm Wm & 1 

(ii) {XE JE ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a CZHo$ 
Zm_ {b{IE : 

(H$) (I) ZmoES>m   1 
                                            AWdm 

 (II) nwUo   1 

(I) nmamXrn  à_wI g_wÐr nÎmZ  1 

 

: 13

 3  1=3

(13.1) Cg ZJa H$m Zm_ {b{IE Ohm± ^maVr` amḯ>r` H$m±J«og H$m A{YdoeZ 1927 _| hþAm  
Wm &  1 

(13.2) (H$)  
h¡ & 1 

 AWdm 

 (I) Cg amÁ` H$  1 

(13.3) {H$g amÁ` _| nmamXrn g_wÐr nÎmZ pñWV h¡ ?   1 
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SECTION E 

(Map-Based Question) (1+2=3)

13. (i) On the given political outline map of India (on page 11), identify 

the place marked as A  with the help of the following information 

and write its correct name on the line marked near it. 

A. The place where the Indian National Congress Session was 

held in 1927. 1 

(ii) On the same given map of India, locate and label the following with 

appropriate symbols : 

(a) (I) Noida  Software Technology Park 1 

                                                                  OR 

 (II) Pune  Software Technology Park 1 

(b) Paradwip  Major Sea Port  1 

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 13. 3 1=3 

(13.1) Name the city where the Indian National Congress Session was 
held in 1927. 1 

(13.2) (a) Name the State where the Noida Software Technology Park 
is located.  1 

 OR 

 (b) Name the State where the Pune Software Technology Park 
is located.  1  

(13.3) In which State is Paradwip Sea Port located ?   1 
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àíZ g§. 13 Ho$ {bE  For question no. 13 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

A 
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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series SRQPE/C  SET~3 

  àíZ-nÌ H$moS>       
amob Z§. Q.P. Code  

Roll No. 
 
 

 
 

ZmoQ> / NOTE : 
(i) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 9 + 1 _mZ{MÌ h¢ & 
 Please check that this question paper contains 9 printed pages +1 Map. 

(ii) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >13 àíZ h¢ & 
 Please check that this question paper contains 13 questions. 

(iv) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 
{bI| & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-
10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 
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: 

: 

(i)  
13 

(ii) 1 5 2 
40 

(iii) 6 8 3
80 

(iv) 9 10 5 

120 

(v) 11 12 4 

(vi) 13 3 
13  1 13  2 

(vii) 

(viii) 

IÊS> H$  

                   (A{V bKw-CÎmar` àíZ) (5 2=10) 

1. Agh`moJ Am§XmobZ eham| _| Yrao- ? ñnï> H$s{OE & 2 

2. IarXXm[a`m± H$s OmVr h¢ ? ñnï> H$s{OE &  2 

3. gr_|Q>  CÚmoJ H$s _hÎmm ñnï> H$s{OE &  2 

4.  2 

5. bmoH$Vm§{ÌH$ ì`dñWmE± amOZr{VH$ g_mZVm na AmYm[aV h¢ &  Bg H$WZ H$s naI  
H$s{OE & 2 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises five sections  Sections A, B, C, D and E. 
There are 13 questions in the question paper. All questions are compulsory.  

(ii) Section A  Questions no. 1 to 5 are very short answer type questions, carrying 
2 marks each. Answer to each question should not exceed 40 words.  

(iii) Section B  Questions no. 6 to 8 are short answer type questions, carrying  
3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C  Questions no. 9 and 10 are long answer type questions, carrying  
5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D  Questions no. 11 and 12 are case-based questions, carrying  
4 marks each.  

(vi) Section E  Question no. 13 is map-based, carrying 3 marks with two parts, 
13(a) from History (1 mark) and 13(b) from Geography (2 marks). 

(vii) There is no overall choice in the question paper. However, an internal choice 
has been provided in few questions. Only one of the choices in such questions 
have to be attempted.  

(viii) Attach map along with your answer-book.    

SECTION A 
 (Very Short Answer Type Questions) (5 2=10) 

1. Why did the Non-Cooperation Movement gradually slow down in cities ? 
Explain.    2 

2. Why are transactions made in money ? Explain.  2 

3. Explain t  industry.  2 

4. Mention the importance of Border roads in India.  2 

5.  2 
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IÊS> I  
                     (bKw-CÎmar` àíZ) (3 3=9) 

6. (H$) Agh`moJ H$m {dMma Am§XmobZ H¡$go ~Zm ? ñnï> H$s{OE & 3 

 AWdm 

(I) Agh`moJ Am§XmobZ J«m_rU joÌm| _| H¡$go \¡$bm ? ñnï> H$s{OE & 3 

7.  Bg H$WZ H$s nw{ï> H$s{OE &  3 

8. {ZY©Z n[adma G$U Ho$ {bE A~ ^r AZm¡nMm[aH$ òmoVm| n ? ñnï> H$s{OE & 3 

IÊS> J  
                     (XrK©-CÎmar` àíZ) (2 5=10) 

9. (H$) ^maV _| amOZr{VH$ Xbm| Ho$ gå_wI à_wI MwZm¡{V`m| H$m {díbofU H$s{OE & 5 

 AWdm 

(I) ^maV _| amOZr{VH$ Xbm| H$s ŷ{_H$m H$m {díbofU H$s{OE & 5 

10. (H$) ^maVr` bmoJm| Ho$ OrdZ na d¡ídrH$aU Ho$ à^mdm| H$s naI H$s{OE &  5 

 AWdm 

 (I)  Bg H$WZ H$s naI  
H$s{OE &  5 

IÊS> K  
                 (Ho$g-AmYm[aV àíZ) (2 4=8) 

11.  Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma {b{IE : 4 

     amï´>r` Vmn {dÚwVJ«h H$m°anmoaoeZ (NTPC) Ûmam {XIm`m J`m _mJ©   

^maV _| amï>́r` Vmn {dÚwVJ¥h H$m°anmoaoeZ {dÚwV àXmZ H$aZo dmbr _w»` {ZJ_ h¡ & BgHo$ 

nmg n`m©daU à~§YZV§Ì (EMS) 14001 Ho$ {bE AmB© Eg Amo (ISO) à_mU-nÌ h¡ & `h 

{ZJ_ àmH¥${VH$ n`m©daU Am¡a g§gmYZ O¡go Ob, I{ZO Vob, J¡g VWm BªYZ g§ajU Zr{V 

H$m {h_m`Vr h¡ VWm BÝh| Ü`mZ _| aIH$a hr {dÚwV g§̀ §Ìm| H$s ñWmnZm H$aVm h¡ & Eogm {ZåZ 

Cnm`m| Ûmam g§̂ d h¡  
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SECTION B 
 (Short-Answer Type Questions) (3 3=9) 

6. (a) How did non-cooperation become a movement ? Explain.  3 

 OR 

(b) How did the Non-Cooperation Movement spread to the  
countryside ? Explain.   3 

7. 
the statement.  3 

8. Why are poor households still dependent on informal sources of loans ? 
Explain.  3 

SECTION C 
 (Long-Answer Type Questions) (2 5=10) 

9. (a) Analyse the major challenges faced by the political parties in India.  5 

OR 

 (b) Analyse the role of political parties in India.   5 

10. (a) Examine the impact of globalisation on the life of the Indian 
people. 5 

 OR 

(b) 
 5 

SECTION D 
 (Case-based questions) (2 4=8) 

11. Read the given case carefully and answer the questions that follow :  4 

NTPC shows the way  

 NTPC is a major power providing corporation in India. It has ISO 

certification for EMS (Environment Management System) 14001. The 

corporation has a pro-active approach for preserving the natural 

environment and resources like water, oil, gas and fuels in places where 

it is setting up power plants. This has been possible through  
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(A) AmYw{ZH$V_ VH$ZrH$m| na AmYm[aV CnH$aUm| H$m ghr Cn`moJ H$aHo$ VWm {dÚ_mZ 

CnH$aUm| _| gwYma & 

(~) A{YH$V_ amI H$m BñVo_mb H$a An{eï> nXmWm] H$m Ý ỳZ CËnmXZ & 

(g) nm[apñW{VH$s g§VwbZ ~ZmE aIZo Ho$ {bE h[aV joÌ H$s gwajm VWm d¥jmamonU Ho$ 

{bE ào[aV H$aZm & 

 

(11.1) ^maV _| {dÚwV àXmZ H$aZo dmbm à_wI {ZJ_ H$m¡Z-gm h¡ ? 1 

(11.2) Cg g§ñWmZ H$m Zm_ {b{IE Omo n`m©daU à~§YZ V§Ì Ho$ {bE AmB©.Eg.Amo. 

à_mU-nÌ Omar H$aVm h¡ & 1 

(11.3) àmH¥${VH$ n`m©daU Ho$ g§ajU Ho$ {bE amï>́r` Vmn {dÚwVJ«h {ZJ_ H$s g§ajU Zr{V 

H$mo ñnï> H$s{OE &  2 

12. ZrMo {XE JE Ho$g H$mo Ü`mZnyd©H$ ma {b{IE :  4 

        ñdV§ÌVm {Xdg H$s enW, 26 OZdar, 1930 

h_mam {dídmg h¡ {H$ {H$gr ^r g_mO H$s Vah ^maVr` OZVm H$m ^r `h EH$ AhaUr` 

(inalienable) A{YH$ma h¡ {H$ CÝh| AmµOmXr {_bo, AnZr _ohZV H$m \$b {_bo, Am¡a OrdZ 

H$s g^r Amdí`H$VmE± nyar hm| {Oggo CÝh

^r {dídmg h¡ {H$ `{X H$moB© ^r gaH$ma AnZr OZVm H$mo BZ A{YH$mam| go d§{MV aIVr h¡ 

Am¡a X~mVr h¡, Vmo OZVm H$mo ^r gaH$ma H$mo ~XbZo `m Cgo g_yb g_má H$aZo H$m A{YH$ma 

h¡ & ^maV _| {~«VmZr gaH$ma Zo Z Ho$db ^maVr` OZVm H$mo ñdV§ÌVm go d§{MV {H$`m h¡ 

~pëH$ CgZo OZVm H$m emofU {H$`m h¡ Am¡a ^maV H$mo Am{W©H$, amOZr{VH$, gm§ñH¥${VH$ Ed§ 

AmÜ`mpË_H$ ñVa na Zï> H$a {X`m h¡ & Bg{bE h_mam {dídmg h¡ {H$ ^maV H$mo A{Zdm ©̀ ê$n 

go {~«Q>oZ Ho$ gmW AnZo g^r g§~§Ym| H$mo g_má H$aHo$ nyU© ñdamO àmá H$aZm Mm{hE &  

(12.1) {H$gH$mo EH$ AhaUr` A{YH$ma g_Pm J`m Wm ? 1 

(12.2) ^maVr`m| Zo nyU© ñdamO  ? 1 

(12.3) Bg AdVaU Ho$ g§X^© _| {~«{Q>e gaH$ma Ho$ à{V ^maVr`m| Ho$ {dMmam| H$s naI  

H$s{OE & 2 
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(a) Optimum utilisation of equipment adopting latest techniques and 
upgrading existing equipment. 

(b) Minimising waste generation by maximising ash utilisation. 

(c) Providing green belts for nurturing ecological balance and 
addressing the question of special purpose vehicles for 
afforestation.  

 

(11.1) Which is the major power providing corporation in India ? 1 

(11.2) Name the institution which issues ISO certification for 
Environment Management System.   1 

(11.3) Explain the pro-active approach of NTPC for preserving the 
natural environment.   2 

12. Read the given case carefully and answer the questions that follow :  4 

The Independence Day Pledge, 26 January, 1930 

 

other people, to have freedom and to enjoy the fruits of their toil and have 

the necessities of life, so that they may have full opportunities of growth. 

We believe also that if any government deprives a people of these rights 

and oppresses them, the people have a further right to alter it or to 

abolish it. The British Government in India has not only deprived the 

Indian people of their freedom but has based itself on the exploitation of 

the masses, and has ruined India economically, politically, culturally, and 

spiritually. We believe, therefore, that India must sever the British 

 

(12.1) What was considered as an inalienable right ? 1 

(12.2)  1 

(12.3) Examine the views of Indians towards the British Government in 
reference to this passage.  2 
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IÊS> L>  

                 (_mZ{MÌ-AmYm[aV àíZ) (1+2=3) 

13. (i) {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 11 na) _| {ZåZ{b{IV OmZH$mar 
H$s ghm`Vm go $ nmg 
ItMr JB© aoIm na CgH$m ghr Zm_ {b{IE &  

A. dh ñWmZ Ohm± ^maVr` amḯ>r` H$m±J«og H$m A{YdoeZ 1927 _| hþAm Wm & 1 

(ii) {XE JE ^maV Ho$ Bgr aoIm-_mZ{MÌ na {ZåZ{b{IV H$mo A§{H$V H$s{OE Am¡a CZHo$ 
Zm_ {b{IE : 

(H$) (I) ZmoES>m  ©$  1 
                                            AWdm 

 (II) nwUo   1 

(I) nmamXrn  à_wI g_wÐr nÎmZ  1 

 

: 13

 3  1=3

(13.1) Cg ZJa H$m Zm_ {b{IE Ohm± ^maVr` amï´>r` H$m±J«og H$m A{YdoeZ 1927 _| hþAm  
Wm &  1 

(13.2) (H$)  
h¡ & 1 

 AWdm 

 (I)  1 

(13.3) {H$g amÁ` _| nmamXrn g_wÐr nÎmZ pñWV h¡ ?   1 
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SECTION E 

     (Map-Based Question) (1+2=3) 

13. (i) On the given political outline map of India (on page 11), identify 

the place marked as A  with the help of the following information 

and write its correct name on the line marked near it. 

A. The place where the Indian National Congress Session was 

held in 1927. 1 

(ii) On the same given map of India, locate and label the following with 

appropriate symbols : 

(a) (I) Noida  Software Technology Park 1 

                                                                  OR 

 (II) Pune  Software Technology Park 1 

(b) Paradwip  Major Sea Port  1 

Note :  The following questions are for the Visually Impaired Candidates 
only, in lieu of Q. No. 13. 3 1=3 

(13.1) Name the city where the Indian National Congress Session was 
held in 1927. 1 

(13.2) (a) Name the State where the Noida Software Technology Park 
is located.  1 

 OR 

 (b) Name the State where the Pune Software Technology Park 
is located.  1  

(13.3) In which State is Paradwip Sea Port located ?   1 



  

 Page 10 32/6/3 



 

 Page 11 32/6/3 

àíZ g§. 13 Ho$ {bE  For question no. 13 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

A 
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`t§I \¥²y¾ E\c qdIV & 
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  : 

(i) 

13  

(ii) 1 5 

2 40 

(iii) 6 8 

3 80 

(iv) 9 10 

5 120 

(v) 11 12 

4 

(vi) 13 - 3 

 13(a) 1 13(b) 

2 

(vii)

(viii)

I¥T H 

     (^htW N}Ry E¨Wc \of²¾) (5 2=10) 

1. 1927 qeM ²¾es R}cr gcHpc ²y¾ q^oRy²¾ qeM qBH g¥qeZpq²¾H Apa}J Yp JS¾²¾¾ 

qHE¤ HrWp ? g\fR Hc} & 2 

2. _pcW qeM gr`pep£ Wy ^VrAp£ gmHp£ Yr `hWWp Yp ecV²¾ Hc} & 2 
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3. d}hp AWy gRrd EYa}J ²¥¾v ApZpcr EYa}J  qHE¤ qHhp Op£Yp h± ? g\fR  
Hc} & 2 

4. d}HW¥Wcr qeegXpep£ cpO²¾rWH ^cp^cr Wy ApZpqcW h²¾ &  qBg HX²¾ Yr 
\cI Hc} & 2 

5. IcrYYpqcAp£ `tYcp Yy `pqZA` W~ qHE¤ Hr Op£Yr h± ? g\fR Hc} & 2 

I¥T I 

     (N}Ry E¨Wc \of²¾) (3 3=9) 

6. (a) ²¾p q`decWV (Agqha}J) Yp qeMpc A¥Y}d²¾ qHez ^qVAp ? g\fR 
Hc} & 3 

Op£ 

 (b) ²¾p q`decWV (Agqha}J) A¥Y}d²¾ \zTv IyWcp£ qeM qHez ³±qdAp ? 
g\fR Hc} &  3 

7. d}HW¥Wcr fpg²¾ qeegXp qBH EqMW fpg²¾ qeegXp h± &  qBg HX²¾ Yr 
\tf§Rr, UtHerAp£ Ydrdp£ Yy Hy Hc} &  3 

8. Jcr^ \qcepc EZpc Yy dBr A²¾G\MpqcH gc}Wp£ E\c q²¾c_c qHE¤ h²¾ ? 

g\fR Hc} &  3 

I¥T J 

      (d¥̂ y E¨Wc \of²¾) (2 5=10) 

9. (a) _pcW qeM cpO²¾rWH Ydp£ Yy gph`Vy t̀§I MtV}WrAp£ Yp qefdyfV Hc} & 5 

Op£ 

 (b) _pcW qeM cpO²¾rWH Ydp£ Yr _vq`Hp Yp qefdyfV Hc} &  5 

10.  (a) qefe qeAp\HWp (Jd}^ydpqBkyf²¾) Yyfp£ Yy Ycq`Ap²¾ Wykr ²¾pd 

ByHrHcV Yr \oqHqcAp h± &  qBg HX²¾ Yr \cI Hc} &   5 

Op£ 

 (b) _pcW qeM ^htcpfRcr H¥\q²¾Ap£ Yr _vq`Hp Yr \cI Hc} & 5 
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I¥T K 

     (Hyg-AZpqcW \of²¾) (2 4=8) 

11. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 

ApkpYr qYhpmy Yr g~h, 26 O²¾ecr, 1930 

gpTp aHr²¾ h± qH qHgy er g`pO Yr Wcp£ _pcWr O²¾Wp Yp er qBh qBH ²¾p 

hgWp£Wc²¾ a}J (inalienable) AqZHpc h± qH E²¾ªp£ ²¥¾v ApkpYr q`dy, Ap\Vr 

q`h²¾W Yp ³d q`dy, AWy Ore²¾ YrAp£ gpcrAp£ kcvcWp£ \vcrAp£ h}V qOg ²¾pd 

E²¾ªp£ ²¥¾v A§Jy e§ZV Yy _c\vc `¡Hy q`dV & gpTp qBh er aHr²¾ h± qH OyHc 

H}Br er gcHpc Ap\Vr O²¾Wp ²¥¾v qB²¾ªp£ AqZHpcp£ W~ ep£Pp cIYr h± AWy Y^p£Yr 

h±, Wp£ O²¾Wp ²¥¾v er gcHpc ²¥¾v ^YdV Yp Op£ Eg²¥¾v Omªp£ g`yW EIpm²¾ Yp 

AqZHpc h± & _pcW qeM ôWp²¾er gcHpc ²y¾ ²¾p qgc³ _pcWr O²¾Wp ²¥¾v 

ApkpYr W~ ep£qPAp£ cqIAp ^dqH Eg²y¾ O²¾Wp Yp f}fV er HrWp h± AWy 

_pcW ²¥¾v ApcqXH, cpO²¾rWH, gq_ApMpcH AWy AqZApW`H gWc Wy ²¾pf Hc 

qYWp h± & qBg dBr gpTp aHr²¾ h± qH _pcW ²¥¾v kcvcr W}c Wy q^oRy²¾ Yy ²¾pd 

Ap\Vy gpcy g¥ ¥̂Zp£ ²¥¾v IW` HcHy \vc²¾ gecpO \op\W Hc²¾p MphrYp h± &  

(11.1) qHg ²¥¾v qBH ²¾p hgWp£Wc²¾ a}J AqZHpc g`qPAp qJAp h± ? 1 

(11.2) _pcWrAp£ ²y¾ \vc²¾ gecpO  Yr `¥J qHE¤ HrWr h± ? 1 

(11.3) qBg gc}W Yy g¥Yc_ qeM q ôqRf gcHpc Yy \oWr _pcWrAp£ Yy 

qeMpcp£ Yr \cI Hc} & 2 
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12. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 

cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) cphs qYIpqBAp qJAp cph 

_pcW qeM cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ q^Odr \oYp²¾ Hc²¾ epdr `§tI 

q²¾J` h± & qBgYy H}d epWpec²¾ \o ¥̂Z²¾ qggR` (EMS) 14001 Yy dBr 

ApBr.A±g.G. (ISO) \ò pV \Wc h± & qBh q²¾J` HtYcWr epWpec²¾ AWy 

g¥gpZ²¾ qOez qH \pVr, IqVO Wyd, J±g AWy BsZ²¾p£ Yr gtcqIAV ²¾rWr Yp 

qh`pqBWr h± AWy qB²¾ªp£ ²¥¾v qZAp²¾ qeM cIYy h}By hr q^Odr Yy HpcIpq²¾Ap£ Yr 

gXp\²¾p HcYp h± & AOyhp hyS¾ qdIy E\pep£ ²¾pd g¥_e h±  

(a) ApZtq²¾H WH²¾rHp£ Wy AZpcW E\HcVp£ Yr ghr ecW~ AWy AO}Hy 

E\HcVp£ Yr g¥\vc²¾ ecW~ & 

(b) eZ W~ eZ geph (cpI) Yr ecW~ HcHy epZv \YpcX Yr KR~ KR  

EW\pY²¾ & 

(c) \qcApec²¾H g¥Wtd²¾ ^VpBr cIV Yy dBr hqcApdr IyWc Yr 

gtcqIAp AWy eZ W~ eZ YcIW dJpV Yy dBr E\cpdy Hc²¾p & 

(12.1) _pcW qeM q^Odr Yr \vcWr Hc²¾ epdp \o`tI q²¾J` qHhmp h± ? 1 

(12.2) Eg g¥gXp²¾ Yp ²¾p` qdI} qOhmp epWpec²¾ \ô ¥Z²¾ W¥Wc Yy dBr 

ApBr.A±g.G. \o`pV \Wc Opcr HcYp h± & 1 

(12.3) HtYcWr epWpec²¾ Yy gtqcIAV Yy dBr cpfRcr Wp\ q^OdrKc 

q²¾J` cphs ecW~ qeM qdAp£Yr JBr ²¾rWr ²¥¾v g\fR Hc} & 2 
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I¥T L 
 (`p²¾qM§Wc-AZpqcW \of²¾) (1+2=3) 

13. (i) qYWy JBy _pcW Yy cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 7 Wy) E\c hyS¾ qdIr 
OpVHpcr Yr `YY ²¾pd  Yy cv\ qeM q²¾fp²¾ dJpBy JBy gXp²¾ Yr 
\NpV Hc} AWy Eg Yy ²¾kYrH qIMr dHrc (cyIp) E\c EgYp ghr 
²¾p` qdI} & 

 A. Eh gXp²¾ qOXy _pcWr cpfRcr Hp£Jcyg Yp AOdpg 1927 qeM 
h}qBAp gr &  1 

 (ii) qYWy JBy _pcW Yy qBg hr cyIp `p²¾qM§Wc Wy hyS¾ qdqIAp£ ²¥¾v A¥qHW Hc} 
AWy EgYp ²¾p` qdI} : 

(a) (I) ²}¾qBTp  gp³Reyac RyH²}¾d}Or \pcH  1 

                     Op£ 

 (II) \tVy  gp³Reyac RyH²}¾d}Or \pcH  1 

(b) \pcpYr\  \ò tI g`t¥Ycr ¥̂YcJph  1 

: 13 

3 1=3 

(13.1) Eg ²¾Jc Yp ²¾p` qdI} qOXy _pcWr cpfRcr Hp£Jcyg Yp AOdpg 
1927 qeM h}qBAp gr &  1 

(13.2) (a) Eg cpO Yp ²¾p` qdI} qO§Xy ²}¾qBTp gp³Reyac RyH²}¾d}Or \pcH 
gqXW h± & 1 

            Op£ 

 (b) Eg cpO Yp ²¾p` qdI} qO§Xy \tVy gp³Reyac RyH²}¾d}Or \pcH 
gqXW h± &  1 

(13.3) qHg cpO qeM \pcpYr\ g`t¥Ycr ^¥YcJph gqXW h± ? 1 



 

 Page 7 42/6/1 

\of²¾ g¥. 13 Yy dBr 

 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
Outline Map of India (Political) 

 

A 
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Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series SRQPE/C  SET~2 

    Q.P. Code >       

Roll No. 
 
 

 
²}¾R / NOTE : 
(i) qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM N\y h}By 6 \¥²y¾ + 1 `p²¾qM§Wc h²¾ & 
 Please check that this question paper contains 6 printed pages + 1 Map. 

(ii) \of²¾ \§Wc qeM g§Oy h§X Yy ed qY§Wy JBy \of²¾ \§Wc H}T ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ E\c qdIV & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM 13 \of²¾ h²¾ & 
 Please check that this question paper contains 13 questions. 

(iv) qHc\p HcHy \of²¾ Yp E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, E¨Wc \tgqWHp qeM \of²¾ Yp n`p£H 
(grqcAd ²¥¾^c) kcvc qd§I} & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc geycy 
10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ \§Wc ²¥¾v 
\mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hs qdIVJy & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 

g`pqOH qeqJAp²¾¾¾ 
(\¥Op^r EdXp) 

SOCIAL SCIENCE  
(Punjabi Version) 

: 2 : 40
Time allowed : 2 hours Maximum Marks : 40 

42/6/2 
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  : 

(i) 

13  

(ii) 1 5 

2 40 

(iii) 6 8 

3 80 

(iv) 9 10 

5 120 

(v) 11 12 

4 

(vi) 13 - 3 

 13(a) 1 13(b) 

2 

(vii)

(viii)

I¥T H 

     (^htW N}Ry E¨Wc \of²¾) (5 2=10) 

1. `hpW`p Jp£Zr ²y¾ q²¾`cWp gqhW (qgqed) ²¾p ³c`p²¾r (AeqJAp) A¥Y}d²¾  
²¥¾v 1931 qeM epq\g d±V Yp ³±gdp qHE HrWp ? 2 

2. d}HW¥Wcr qeegXpep£ cpO²¾rWH ^cp^cr Wy ApZpqcW h²¾ & qBg HX²¾ Yr 
\cI Hc} & 2 
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3. _pcWr AcXqeegXp qeM egWc EYa}J, Ipg Xp£ qHE¤ cIYp h± ? 2 

4. IcrYYpqcAp£ `tYcp Yy `pqZA` W~ qHE¤ Hr Op£Yr h± ? g\fR Hc} & 2 

5. _pcW qeM gr`pep£ Wy ^VrAp£ gmHp£ Yr `hWWp Yp ecV²¾ Hc} & 2 

I¥T I 

     (N}Ry E¨Wc \of²¾) (3 3=9) 

6. Jcr^ \qcepc EZpc Yy dBr A²¾G\MpqcH gc}Wp£ E\c q²¾c_c qHE¤ h²¾ ? 

g\fR Hc} & 3 

7. d}HW¥Wcr fpg²¾ qeegXp qBH Ot¥`yepc fpg²¾ qeegXp h± & qBg HX²¾ Yr 

\o}mWp Hc} & 3 

8. (a) ²¾p q`decWV (Agqha}J) Yp qeMpc A¥Y}d²¾ qHez ^qVAp ? g\fR 
Hc} & 3 

Op£ 

 (b) ²¾p q`decWV (Agqha}J) A¥Y}d²¾ \zTv IyWcp£ qeM qHez ³±qdAp ? 
g\fR Hc} & 3 

I¥T J 

      (d¥̂ y E¨Wc \of²¾) (2 5=10) 

9. (a) _pcW qeM cpO²¾rWH Ydp£ Yy gph`Vy t̀§I MtV}WrAp£ Yp qefdyfV Hc} & 5 

Op£ 

 (b) _pcW qeM cpO²¾rWH Ydp£ Yr _vq`Hp Yp qefdyfV Hc} &  5 

10.  (a) qeferHc²¾ Yy HtP gHpcpW`H AWy HtP ²¾HpcpW`H \o_pe h²¾ &

HX²¾ Yr \cI Hc} &   5 

Op£ 

 (b) q²¾Ap£g¥JW qeferHc²¾ g_²¾p Yy dBr Aegc \oYp²¾ HcyJp & qBg 

HX²¾ Yr \cI Hc} & 5 
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I¥T K 

     (Hyg-AZpqcW \of²¾) (2 4=8) 

11. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 

cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) cphs qYIpqBAp qJAp cph 

_pcW qeM cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ q^Odr \oYp²¾ Hc²¾ epdr `§tI 

q²¾J` h± & qBgYy H}d epWpec²¾ \o ¥̂Z²¾ qggR` (EMS) 14001 Yy dBr 

ApBr.A±g.G. (ISO) \ò pV \Wc h± & qBh q²¾J` HtYcWr epWpec²¾ AWy 

g¥gpZ²¾ qOez qH \pVr, IqVO Wyd, J±g AWy BsZ²¾p£ Yr gtcqIAV ²¾rWr Yp 

qh`pqBWr h± AWy qB²¾ªp£ ²¥¾v qZAp²¾ qeM cIYy h}By hr q^Odr Yy HpcIpq²¾Ap£ Yr 

gXp\²¾p HcYp h± & AOyhp hyS¾ qdIy E\pep£ ²¾pd g¥_e h±  

(a) ApZtq²¾H WH²¾rHp£ Wy AZpcW E\HcVp£ Yr ghr ecW~ AWy AO}Hy 

E\HcVp£ Yr g¥\vc²¾ ecW~ & 

(b) eZ W~ eZ geph (cpI) Yr ecW~ HcHy epZv \YpcX Yr KR~ KR  

EW\pY²¾ & 

(c) \qcApec²¾H g¥Wtd²¾ ^VpBr cIV Yy dBr hqcApdr IyWc Yr 

gtcqIAp AWy eZ W~ eZ YcIW dJpV Yy dBr E\cpdy Hc²¾p & 

(11.1) _pcW qeM q^Odr Yr \vcWr Hc²¾ epdp \o`tI q²¾J` qHhmp h± ? 1 

(11.2) Eg g¥gXp²¾ Yp ²¾p` qdI} qOhmp epWpec²¾ \ô ¥Z²¾ W¥Wc Yy dBr 

ApBr.A±g.G. \o`pV \Wc Opcr HcYp h± & 1 

(11.3) HtYcWr epWpec²¾ Yy gtqcIAV Yy dBr cpfRcr Wp\ q^OdrKc 

q²¾J` cphs ecW~ qeM qdAp£Yr JBr ²¾rWr ²¥¾v g\fR Hc} & 2 
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12. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 

ApkpYr qYhpmy Yr g~h, 26 O²¾ecr, 1930 

gpTp aHr²¾ h± qH qHgy er g`pO Yr Wcp£ _pcWr O²¾Wp Yp er qBh qBH ²¾p 

hgWp£Wc²¾ a}J (inalienable) AqZHpc h± qH E²¾ªp£ ²¥¾v ApkpYr q`dy, Ap\Vr 

q`h²¾W Yp ³d q`dy, AWy Ore²¾ YrAp£ gpcrAp£ kcvcWp£ \vcrAp£ h}V qOg ²¾pd 

E²¾ªp£ ²¥¾v A§Jy e§ZV Yy _c\vc `¡Hy q`dV & gpTp qBh er aHr²¾ h± qH OyHc 

H}Br er gcHpc Ap\Vr O²¾Wp ²¥¾v qB²¾ªp£ AqZHpcp£ W~ ep£Pp cIYr h± AWy Y^p£Yr 

h±, Wp£ O²¾Wp ²¥¾v er gcHpc ²¥¾v ^YdV Yp Op£ Eg²¥¾v Omªp£ g`yW EIpm²¾ Yp 

AqZHpc h± & _pcW qeM ^oWp²¾er gcHpc ²y¾ ²¾p qgc³ _pcWr O²¾Wp ²¥¾v 

ApkpYr W~ ep£qPAp£ cqIAp ^dqH Eg²y¾ O²¾Wp Yp f}fV er HrWp h± AWy 

_pcW ²¥¾v ApcqXH, cpO²¾rWH, gq_ApMpcH AWy AqZApW`H gWc Wy ²¾pf Hc 

qYWp h± & qBg dBr gpTp aHr²¾ h± qH _pcW ²¥¾v kcvcr W}c Wy q^oRy²¾ Yy ²¾pd 

Ap\Vy gpcy g¥ ¥̂Zp£ ²¥¾v IW` HcHy \vc²¾ gecpO \op\W Hc²¾p MphrYp h± &  

(12.1) qHg ²¥¾v qBH ²¾p hgWp£Wc²¾ a}J AqZHpc g`qPAp qJAp h± ? 1 

(12.2) _pcWrAp£ ²y¾ \vc²¾ gecpO  Yr `¥J qHE¤ HrWr h± ? 1 

(12.3) qBg gc}W Yy g¥Yc_ qeM q ôqRf gcHpc Yy \oWr _pcWrAp£ Yy 

qeMpcp£ Yr \cI Hc} & 2 
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I¥T L 
 (`p²¾qM§Wc-AZpqcW \of²¾) (1+2=3) 

13. (i) qYWy JBy _pcW Yy cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 7 Wy) E\c hyS¾ qdIr 
OpVHpcr Yr `YY ²¾pd  Yy cv\ qeM q²¾fp²¾ dJpBy JBy gXp²¾ Yr 
\NpV Hc} AWy Eg Yy ²¾kYrH qIMr dHrc (cyIp) E\c EgYp ghr 
²¾p` qdI} & 

 A. Eh gXp²¾ qOXy _pcWr cpfRcr Hp£Jcyg Yp AOdpg 1927 qeM 
h}qBAp gr &  1 

 (ii) qYWy JBy _pcW Yy qBg hr cyIp `p²¾qM§Wc Wy hyS¾ qdqIAp£ ²¥¾v A¥qHW Hc} 
AWy EgYp ²¾p` qdI} : 

(a) (I) ²}¾qBTp  gp³Reyac RyH²}¾d}Or \pcH  1 

                     Op£ 

 (II) \tVy  gp³Reyac RyH²}¾d}Or \pcH  1 

(b) \pcpYr\  \ò tI g`t¥Ycr ¥̂YcJph  1 

: 13 

3 1=3 

(13.1) Eg ²¾Jc Yp ²¾p` qdI} qOXy _pcWr cpfRcr Hp£Jcyg Yp AOdpg 
1927 qeM h}qBAp gr &  1 

(13.2) (a) Eg cpO Yp ²¾p` qdI} qO§Xy ²}¾qBTp gp³Reyac RyH²}¾d}Or \pcH 
gqXW h± & 1 

            Op£ 

 (b) Eg cpO Yp ²¾p` qdI} qO§Xy \tVy gp³Reyac RyH²}¾d}Or \pcH 
gqXW h± &  1 

(13.3) qHg cpO qeM \pcpYr\ g`t¥Ycr ^¥YcJph gqXW h± ? 1 
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\of²¾ g¥. 13 Yy dBr 

 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
Outline Map of India (Political) 

 

A 
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Candidates must write the Q.P. Code 
on the title page of the answer-book. 

 Series SRQPE/C  SET~3 

    Q.P. Code >       

Roll No. 
 
 

 
²}¾R / NOTE : 
(i) qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM N\y h}By 6 \¥²y¾ + 1 `p²¾qM§Wc h²¾ & 
 Please check that this question paper contains 6 printed pages + 1 Map. 

(ii) \of²¾ \§Wc qeM g§Oy h§X Yy ed qY§Wy JBy \of²¾ \§Wc H}T ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ E\c qdIV & 

 Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 

(iii) qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM 13 \of²¾ h²¾ & 
 Please check that this question paper contains 13 questions. 

(iv) qHc\p HcHy \of²¾ Yp E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, E¨Wc \tgqWHp qeM \of²¾ Yp n`p£H 
(grqcAd ²¥¾^c) kcvc qd§I} & 

 Please write down the serial number of the question in the 
answer-book before attempting it. 

(v) qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc geycy 
10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ \§Wc ²¥¾v 
\mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hs qdIVJy & 

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 

g`pqOH qeqJAp²¾¾¾ 
(\¥Op^r EdXp) 

SOCIAL SCIENCE  
(Punjabi Version) 

: 2 : 40
Time allowed : 2 hours Maximum Marks : 40 

42/6/3 
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  : 

(i) 

13  

(ii) 1 5 

2 40 

(iii) 6 8 

3 80 

(iv) 9 10 

5 120 

(v) 11 12 

4 

(vi) 13 - 3 

 13(a) 1 13(b) 

2 

(vii)

(viii)

I¥T H 

     (^htW N}Ry E¨Wc \of²¾) (5 2=10) 

1. Agqha}J A¥Y}d²¾ fqhcp£ qeM h}dr h}dr §̀S¾p qHE¤ h} qJAp ? g\fR Hc} & 2 

2. IcrYYpqcAp£ `tYcp Yy `pqZA` W~ qHE¤ Hr Op£Yr h± ? g\fR Hc} & 2 
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3. gr`zR  EYa}J Yr `hWWp g\fR Hc} & 2 

4. _pcW qeM gr`pep£ Wy ^VrAp£ gmHp£ Yr `hWWp Yp ecV²¾ Hc} & 2 

5. d}HW¥Wcr qeegXpep£ cpO²¾rWH ^cp^cr Wy ApZpqcW h²¾ &  qBg HX²¾ Yr 
\cI Hc} & 2 

I¥T I 

     (N}Ry E¨Wc \of²¾) (3 3=9) 

6. (a) ²¾p q`decWV (Agqha}J) Yp qeMpc A¥Y}d²¾ qHez ^qVAp ? g\fR 
Hc} & 3 

Op£ 

 (b) ²¾p q`decWV (Agqha}J) A¥Y}d²¾ \zTv IyWcp£ qeM qHez ³±qdAp ? 
g\fR Hc} & 3 

7. d}HW¥Wc qeAHWrAp£ Yy g²¾`p²¾ AWy AkpYr ²¥¾v eZpE¤Yp h± & qBg HX²¾ 
Yr \o}mWp (\tfRr) Hc} & 3 

8. Jcr^ \qcepc EZpc Yy dBr A²¾G\MpqcH gc}Wp£ E\c q²¾c_c qHE¤ h²¾ ? 

g\fR Hc} &  3 

I¥T J 

      (d¥̂ y E¨Wc \of²¾) (2 5=10) 

9. (a) _pcW qeM cpO²¾rWH Ydp£ Yy gph`Vy t̀§I MtV}WrAp£ Yp qefdyfV Hc} & 5 

Op£ 

 (b) _pcW qeM cpO²¾rWH Ydp£ Yr _vq`Hp Yp qefdyfV Hc} &  5 

10.  (a) qeferHc²¾ Yy _pcWr d}Hp£ Yy Ore²¾ E\c \By \o_pep£ Yr \cI Hc} &   5 

Op£ 

 (b) _pcWr H¥\²¾rAp£ ²¥¾v eZr h}Br \oqWg\cXp (H¥\rRrf²¾) ²¾pd dp_ 

h}qBAp h± & qBg HX²¾ Yr \cI Hc} & 5 
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I¥T K 

     (Hyg-AZpqcW \of²¾) (2 4=8) 

11. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 

cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ (NTPC) cphs qYIpqBAp qJAp cph 

_pcW qeM cpfRcr Wp\ q^OdrKc Hpc\}cyf²¾ q^Odr \oYp²¾ Hc²¾ epdr `§tI 

q²¾J` h± & qBgYy H}d epWpec²¾ \o ¥̂Z²¾ qggR` (EMS) 14001 Yy dBr 

ApBr.A±g.G. (ISO) \ò pV \Wc h± & qBh q²¾J` HtYcWr epWpec²¾ AWy 

g¥gpZ²¾ qOez qH \pVr, IqVO Wyd, J±g AWy BsZ²¾p£ Yr gtcqIAV ²¾rWr Yp 

qh`pqBWr h± AWy qB²¾ªp£ ²¥¾v qZAp²¾ qeM cIYy h}By hr q^Odr Yy HpcIpq²¾Ap£ Yr 

gXp\²¾p HcYp h± & AOyhp hyS¾ qdIy E\pep£ ²¾pd g¥_e h±  

(a) ApZtq²¾H WH²¾rHp£ Wy AZpcW E\HcVp£ Yr ghr ecW~ AWy AO}Hy 

E\HcVp£ Yr g¥\vc²¾ ecW~ & 

(b) eZ W~ eZ geph (cpI) Yr ecW~ HcHy epZv \YpcX Yr KR~ KR  

EW\pY²¾ & 

(c) \qcApec²¾H g¥Wtd²¾ ^VpBr cIV Yy dBr hqcApdr IyWc Yr 

gtcqIAp AWy eZ W~ eZ YcIW dJpV Yy dBr E\cpdy Hc²¾p & 

(11.1) _pcW qeM q^Odr Yr \vcWr Hc²¾ epdp \o`tI q²¾J` qHhmp h± ? 1 

(11.2) Eg g¥gXp²¾ Yp ²¾p` qdI} qOhmp epWpec²¾ \ô ¥Z²¾ W¥Wc Yy dBr 

ApBr.A±g.G. \o`pV \Wc Opcr HcYp h± & 1 

(11.3) HtYcWr epWpec²¾ Yy gtqcIAV Yy dBr cpfRcr Wp\ q^OdrKc 

q²¾J` cphs ecW~ qeM qdAp£Yr JBr ²¾rWr ²¥¾v g\fR Hc} & 2 
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12. hyS¾ qY§Wy JBy Hyg ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc 

qd§I} : 4 

ApkpYr qYhpmy Yr g~h, 26 O²¾ecr, 1930 

gpTp aHr²¾ h± qH qHgy er g`pO Yr Wcp£ _pcWr O²¾Wp Yp er qBh qBH ²¾p 

hgWp£Wc²¾ a}J (inalienable) AqZHpc h± qH E²¾ªp£ ²¥¾v ApkpYr q`dy, Ap\Vr 

q`h²¾W Yp ³d q`dy, AWy Ore²¾ YrAp£ gpcrAp£ kcvcWp£ \vcrAp£ h}V qOg ²¾pd 

E²¾ªp£ ²¥¾v A§Jy e§ZV Yy _c\vc `¡Hy q`dV & gpTp qBh er aHr²¾ h± qH OyHc 

H}Br er gcHpc Ap\Vr O²¾Wp ²¥¾v qB²¾ªp£ AqZHpcp£ W~ ep£Pp cIYr h± AWy Y^p£Yr 

h±, Wp£ O²¾Wp ²¥¾v er gcHpc ²¥¾v ^YdV Yp Op£ Eg²¥¾v Omªp£ g`yW EIpm²¾ Yp 

AqZHpc h± & _pcW qeM ^oWp²¾er gcHpc ²y¾ ²¾p qgc³ _pcWr O²¾Wp ²¥¾v 

ApkpYr W~ ep£qPAp£ cqIAp ^dqH Eg²y¾ O²¾Wp Yp f}fV er HrWp h± AWy 

_pcW ²¥¾v ApcqXH, cpO²¾rWH, gq_ApMpcH AWy AqZApW`H gWc Wy ²¾pf Hc 

qYWp h± & qBg dBr gpTp aHr²¾ h± qH _pcW ²¥¾v kcvcr W}c Wy q^oRy²¾ Yy ²¾pd 

Ap\Vy gpcy g¥ ¥̂Zp£ ²¥¾v IW` HcHy \vc²¾ gecpO \op\W Hc²¾p MphrYp h± &  

(12.1) qHg ²¥¾v qBH ²¾p hgWp£Wc²¾ a}J AqZHpc g`qPAp qJAp h± ? 1 

(12.2) _pcWrAp£ ²y¾ \vc²¾ gecpO  Yr `¥J qHE¤ HrWr h± ? 1 

(12.3) qBg gc}W Yy g¥Yc_ qeM q ôqRf gcHpc Yy \oWr _pcWrAp£ Yy 

qeMpcp£ Yr \cI Hc} & 2 
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I¥T L 
 (`p²¾qM§Wc-AZpqcW \of²¾) (1+2=3) 

13. (i) qYWy JBy _pcW Yy cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 7 Wy) E\c hyS¾ qdIr 
OpVHpcr Yr `YY ²¾pd  Yy cv\ qeM q²¾fp²¾ dJpBy JBy gXp²¾ Yr 
\NpV Hc} AWy Eg Yy ²¾kYrH qIMr dHrc (cyIp) E\c EgYp ghr 
²¾p` qdI} & 

 A. Eh gXp²¾ qOXy _pcWr cpfRcr Hp£Jcyg Yp AOdpg 1927 qeM 
h}qBAp gr &  1 

 (ii) qYWy JBy _pcW Yy qBg hr cyIp `p²¾qM§Wc Wy hyS¾ qdqIAp£ ²¥¾v A¥qHW Hc} 
AWy EgYp ²¾p` qdI} : 

(a) (I) ²}¾qBTp  gp³Reyac RyH²}¾d}Or \pcH  1 

                     Op£ 

 (II) \tVy  gp³Reyac RyH²}¾d}Or \pcH  1 

(b) \pcpYr\  \ò tI g`t¥Ycr ¥̂YcJph  1 

: 13 

3 1=3 

(13.1) Eg ²¾Jc Yp ²¾p` qdI} qOXy _pcWr cpfRcr Hp£Jcyg Yp AOdpg 
1927 qeM h}qBAp gr &  1 

(13.2) (a) Eg cpO Yp ²¾p` qdI} qO§Xy ²}¾qBTp gp³Reyac RyH²}¾d}Or \pcH 
gqXW h± & 1 

            Op£ 

 (b) Eg cpO Yp ²¾p` qdI} qO§Xy \tVy gp³Reyac RyH²}¾d}Or \pcH 
gqXW h± &  1 

(13.3) qHg cpO qeM \pcpYr\ g`t¥Ycr ^¥YcJph gqXW h± ? 1 
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\of²¾ g¥. 13 Yy dBr 

 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
Outline Map of India (Political) 

 

A 
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